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And this master maintains — YAMPY PN 2ITY PRY DY 120 A
Because witnesses are not available to authenticate it

OVERVIEW

The X3 explained the np17nn between 1327 °"1 (where IR 'Y 2"192 2™ "2
n'"192 in a case where Q7w °"nNn XX VA7) is that "7 maintains that 1"1192 was
instituted on account of a1°p. Therefore since there are two 2°m>w there is no need
for 1"1192. The X723 later ask that °"9 should also argue in the X7 (where 721X 'R
5"192 IR 'X1 3"191). N1BOIN mentions that this question can be posed now.

2:RYIA ATINY 539 N999) MIWHNY Y81 1IN INPYN
The X123 could have asked now, and let >''1 argue in the X2 as well

SUMMARY
The question that °"7 should argue in the X7 could be posed as soon as we
assume that >"7 maintains the reason of 21p.

THINKING IT OVER
Why did not the X ask (nor does MoN mention) according to the Xnp Rw?
(which maintains 11192 1% $"X 03 127w '2), that Xw™2 "™ 2HoN?*

! Now that we say that >" maintains the reason of a1p and therefore by v3 27w 0°3w there is no need for 192, See
(however) ‘Thinking it over’.

* The X3 asked this question later when we assume that "1 agrees with 7127 but is not concerned 1725w x> that
12072 127 i ®aw (by R2nw 2°3w). The R therefore asks that °" should also maintain in the Xw> where 81 '%
1"192 IR 'K 5"192 that it should be 7w since they are both 2°m?w and he is not concerned for 151 1> XAW.

? Just as later (when the Xn) assumes that >"9 agrees with w5, but is not 17292 TmKY M3) the Xn3 asks that "9
should argue in the Xw"1 as well; similarly (or certainly) here when the X713 assumes that *"9 agrees with X217 (that
the reason for 1192 is 0vp) the X3 should (certainly) ask Xw™a °"3 >n1 17971 See 1"nk # 77-8 for possible
explanations why the X3 does not ask now X132 >"'1 219991

* See (1x7) K"wan.
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